Review for Final
Will be worth 125pts
INFORMAL LOGIC

Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.

45pts (3pts each)
____
1.
Benjamin Franklin wrote, "Beer is proof that God loves us and wants us to be happy." Therefore, since old Ben would never lie about anything so important as God, we must conclude that God does indeed exist.

	a.
	Appeal to unqualified authority.

	b.
	False cause.

	c.
	No fallacy.

	d.
	Begging the question.

	e.
	Argument against the person, circumstantial.


____
2.
Hillary Clinton argues that the time has come for universal health insurance. But Hillary should just go back into that hole she crawled out of and keep her mouth shut. She's nothing but a hyper feminist male-bashing shrew. Nobody should listen to her nonsense.

	a.
	Appeal to unqualified authority.

	b.
	Red herring.

	c.
	Argument against the person, abusive.

	d.
	You, too (tu quoque).

	e.
	No fallacy.


____
3.
Every player on the varsity chess team is very good. Therefore, the team is very good.

	a.
	Division.

	b.
	Begging the question.

	c.
	Composition.

	d.
	Hasty generalization.

	e.
	No fallacy.


____
4.
Every word in this sentence is meaningful. Therefore, the sentence is meaningful.

	a.
	No fallacy.

	b.
	Complex question.

	c.
	Composition.

	d.
	Hasty generalization.

	e.
	Division.


____
5.
Whoever fires a gun at another person should be arrested. But those cowboys on the movie set are doing precisely this. Thus, those cowboys should be arrested.

	a.
	Hasty generalization.

	b.
	No fallacy.

	c.
	Begging the question.

	d.
	Accident.

	e.
	False dichotomy.


____
6.
Health care is a fundamental right. This is so because citizens have a right to the necessities of life. And this follows from the fact that life is a fundamental right. And naturally this is true because the state has the obligation to protect life. And why is this true? Because the state has an obligation to provide health care. And this follows from the fact that health care is a fundamental right.

	a.
	Begging the question.

	b.
	Red herring.

	c.
	Slippery slope.

	d.
	Missing the point.

	e.
	No fallacy.


____
7.
Members of the jury, surely you will not find Dr. Costello liable for amputating the wrong leg of his patient. During four years of medical school this poor man groped and struggled just to get by. Unlike his fellow students, he had no rich parents to pay his way. And during his years of residency he was forced to work 16-hour days, up before dawn and slaving away long after sunset. And now this lawsuit. Nobody deserves to be treated this way.

	a.
	Red herring.

	b.
	No fallacy.

	c.
	Missing the point.

	d.
	Slippery slope.

	e.
	Appeal to pity.


____
8.
Mr. Thompson, our jeweler, says that this large cut stone is a zircon, and not a diamond. Since Mr. Thompson has an excellent reputation among jewelers, we conclude that this stone is indeed a zircon.

	a.
	Appeal to unqualified authority.

	b.
	Appeal to the people.

	c.
	No fallacy.

	d.
	False dichotomy.

	e.
	Appeal to the people.


____
9.
Sylvia is an American. Americans are 12 percent black, 4 percent Asian, and 13 percent Hispanic. Therefore, Sylvia is 12 percent black, 4 percent Asian, and 13 percent Hispanic.

	a.
	Hasty generalization.

	b.
	Appeal to the people.

	c.
	Composition.

	d.
	Division.

	e.
	No fallacy.


____
10.
Jordan Meyer argues against alcohol abuse in fraternities. What a hypocrite! When Jordan was a student he was the biggest binge drinker on campus. His arguments are a joke.

	a.
	Straw man.

	b.
	Appeal to unqualified authority.

	c.
	No fallacy.

	d.
	Argument against the person, abusive.

	e.
	You, too (tu quoque).


____
11.
You shouldn't worry a minute about dropping these tabs of ecstasy. Absolutely everyone who is a bit cool is doing it. It's the drug of choice for every rave.

	a.
	You, too (tu quoque).

	b.
	Hasty generalization.

	c.
	No fallacy.

	d.
	Appeal to the people.

	e.
	False dichotomy.


____
12.
Scientists have identified a "God gene," which they think is responsible for the widespread belief in a deity. Obviously God planted that gene in humans to ensure their belief in God.

	a.
	False cause.

	b.
	Begging the question.

	c.
	Appeal to unqualified authority.

	d.
	Missing the point.

	e.
	No fallacy.


____
13.
Jason's quartz watch runs about 3 years and 4 months on a fresh battery. Therefore, probably David's watch, which is the same make and model as Jason's, runs about 3 years and 4 months on a fresh battery.

	a.
	Accident.

	b.
	False cause.

	c.
	Weak analogy.

	d.
	No fallacy.

	e.
	Hasty generalization.


____
14.
Renee Richards argues in favor of reducing the patient load of our nurses. But it's obvious why she says this. Renee is a nurse herself, so of course she wants a reduced patient load. Nobody should pay too much attention to her pleas.

	a.
	You, too (tu quoque).

	b.
	No fallacy.

	c.
	Appeal to unqualified authority.

	d.
	Argument against the person, abusive.

	e.
	Argument against the person, circumstantial.


____
15.
It's appropriate for parents to invade their children's privacy to protect them from danger. But the role of government is similar to that of parents. Therefore, it's appropriate for the government to invade the privacy of citizens to protect the country.

	a.
	Missing the point.

	b.
	No fallacy.

	c.
	False cause.

	d.
	Composition.

	e.
	Weak analogy.


CATEGORICAL LOGIC

Multiple Choice 60pts (3pts ea)
Identify the letter of the choice that best completes the statement or answers the question.
Categorical Proposition 1A
Given the categorical proposition,

"No cars that are not Toyotas are cars I would love to buy this summer."
____
16.
In Categorical Proposition 1A, the subject term is:

	a.
	Cars

	b.
	Cars that are not Toyotas

	c.
	Cars I would love to buy

	d.
	No

	e.
	Are not


____
17.
In Categorical Proposition 1A, the quantifier is:

	a.
	Are not.

	b.
	Negative.

	c.
	No.

	d.
	Are.

	e.
	Affirmative.


____
18.
In Categorical Proposition 1A, the quality is:

	a.
	Are.

	b.
	Particular.

	c.
	Affirmative.

	d.
	Negative.

	e.
	Are not.


____
19.
In Categorical Proposition 1A, the quantity is:

	a.
	Particular.

	b.
	Universal.

	c.
	No.

	d.
	Affirmative.

	e.
	Singular.


____
20.
In Categorical Proposition 1A, which terms are distributed?

	a.
	The predicate but not the subject.

	b.
	Both the subject and the predicate.

	c.
	Neither the subject not the predicate.

	d.
	The quantifier but not the copula.

	e.
	The subject but not the predicate.


____
21.
Which of the following categorical propositions is in standard form?

	a.
	No same-sex marriages are supported by evangelical Christians.

	b.
	All political donors expect hefty paybacks from politicians.

	c.
	Some face lifts are less than successful procedures.

	d.
	High speed chases are accidents waiting to happen.

	e.
	Some corporate shake-ups have reverberations affecting all employees.


____
22.
The statement "No government bonds are securities that pay high interest" is an:

	a.
	E-proposition.

	b.
	O-proposition.

	c.
	S-proposition.

	d.
	A-proposition.

	e.
	I-proposition.


____
23.
Given the categorical proposition "Some logic students are not persons keen on numbers." If the quality but not the quantity is changed, the resulting proposition is:

	a.
	All logic students are not persons keen on numbers.

	b.
	No logic students are not persons keen on numbers.

	c.
	Some persons keen on numbers are logic students.

	d.
	No logic students are persons keen on numbers.

	e.
	Some logic students are persons keen on numbers.


INSTRUCTIONS: In the questions below you are given a statement, its truth value in parentheses, and an operation/relation to be performed on that statement. You must identify the new statement and the truth value of the new statement. 
____
24.
No non-A are B. (T)          Contraposition

	a.
	No non-B are A. (Und.)

	b.
	Some non-A are not B. (T)

	c.
	All non-A are non-B. (T)

	d.
	All A are non-B. (Und.)

	e.
	Some non-A are B. (F)


____
25.
All non-A are B. (F)          Obversion

	a.
	Some non-A are not B. (T)

	b.
	All B are non-A. (Und.)

	c.
	No non-A are non-B. (F)

	d.
	All non-B are A. (F)

	e.
	All A are non-B. (F)


INSTRUCTIONS: In the following questions you are given a statement, its truth value in parentheses, and then a new statement. You must determine how the new statement is related to the given statement and determine the truth value of the new statement. Adopt the Aristotelian standpoint and assume that A and B denote things that actually exist.
____
26.
Some A are not non-B. (T)          Some A are B.

	a.
	Subcontrary. (Und.)

	b.
	Obversion. (T)

	c.
	Conversion. (T)

	d.
	Contrary. (F)

	e.
	Contraposition. (T)


____
27.
Some non-A are B. (F)          Some B are non-A.

	a.
	Subcontrary. (T)

	b.
	Conversion. (Und.)

	c.
	Contraposition. (Und.)

	d.
	Conversion. (F)

	e.
	Contraposition. (F)


INSTRUCTIONS: Select the answer that best characterizes the following immediate inferences. Adopt the Aristotelian standpoint for these problems.
____
28.
No mad cows are healthy sources of food. Therefore, some mad cows are not healthy sources of food.

	a.
	Invalid, illicit contradictory.

	b.
	Invalid, illicit subalternation.

	c.
	Invalid, illicit subcontrary.

	d.
	Valid, subalternation.

	e.
	Valid, contradictory.


____
29.
Some ski areas are not settings for avalanches. Therefore, no ski areas are settings for avalanches.

	a.
	Valid, subalternation.

	b.
	Invalid, illicit subcontrary.

	c.
	Invalid, existential fallacy.

	d.
	Valid, contrary.

	e.
	Invalid, illicit subalternation.


INSTRUCTIONS: Fill in the Venn diagrams for the following statements.

Venn Diagram 1C
Given the following syllogistic form,

	No P are M.

No S are M.

No S are P.
	[image: image1.wmf]


____
30.
Given Venn Diagram 1C, after filling in the Venn diagram,

	a.
	Areas 2, 3, and 4 are shaded, and there is an X in Area 5.

	b.
	Areas 5, 6, and 7 are shaded, and there is an X in Area 2.

	c.
	Areas 2, 3, and 4 are shaded, and there are no other marks.

	d.
	Areas 2, 3, 4, and 6 are shaded.

	e.
	Areas 5, 6, and 7 are shaded, and there are no other marks.


____
31.
For the syllogistic form in Venn Diagram 1C, the mood and figure is:

	a.
	AAA-2.

	b.
	III-3.

	c.
	EEE-3.

	d.
	III-2.

	e.
	EEE-2.


____
32.
For the syllogistic form in Venn Diagram 1C, the answer from the Boolean standpoint is:

	a.
	Invalid, exclusive premises.

	b.
	Invalid, illicit major.

	c.
	Invalid, drawing a negative conclusion from negative premises.

	d.
	Valid, no fallacy.

	e.
	Invalid, illicit minor.


Venn Diagram 3C
Given the following syllogistic form,

	Some M are not P.

Some M are S.     

Some S are not P.
	[image: image2.wmf]


____
33.
Given Venn Diagram 3C, after filling in the Venn diagram,

	a.
	There is an X on the line between Areas 1 and 4 and between Areas 2 and 3.

	b.
	There is an X in Area 1 and an X in Area 2.

	c.
	There is an X on the line between Areas 1 and 2 and between Areas 2 and 3.

	d.
	Areas 1, 2, and 3 are shaded.

	e.
	There is an X on the line between Areas 1 and 2 and between Areas 3 and 4.


____
34.
For the syllogistic form in Venn Diagram 3C, the mood and figure is:

	a.
	OIO-3.

	b.
	IOI-3.

	c.
	OIO-2.

	d.
	OEO-3.

	e.
	IOI-2.


____
35.
For the syllogistic form in Venn Diagram 3C, the answer from the Boolean standpoint is:

	a.
	Valid, no fallacy.

	b.
	Invalid, exclusive premises.

	c.
	Invalid, drawing a negative conclusion from an affirmative premise.

	d.
	Invalid, existential fallacy.

	e.
	Invalid, undistributed middle.




PROPOSITIONAL LOGIC

Multiple Choice 20pts (2pts each)

INSTRUCTIONS: Select the correct translation for the following problems.
____
36.
Either Safeco reduces premiums and Geico cuts costs or Farmers hires agents.

	a.
	S  (G  F)

	b.
	(S  G)  F

	c.
	(S  G)  F

	d.
	(S  G)  F

	e.
	S  (G  F)


____
37.
Not both Travelers and Conseco run an ad if Liberty opens new offices.

	a.
	L  ~(T  C)

	b.
	~[C  (L  C)]

	c.
	L  (~T  ~C)

	d.
	~(T  C)  L

	e.
	(~T  ~C)  L


____
38.
A  
     T      F

____
39.
A  
     F      F

Exhibit 2E
Given that A and B are true and X and Y are false, determine the truth value of the following proposition.

~[~ (X  ~ Y)  (~ X  ~A)]  ~ (B  ~ A)
____
40.
The proposition in Exhibit 2E is:

	a.
	False.

	b.
	True.


____
41.
In Exhibit 2E, the main operator is a:

	a.
	Dot.

	b.
	Horseshoe.

	c.
	Wedge.

	d.
	Tilde.

	e.
	Triple bar.


Exhibit 3I

Use an ordinary truth table to answer the following questions. Construct the truth table as per the instructions in the textbook.

Given the statement:     (Q  ~ C)  (C  ~ Q)
____
42.
The statement in Exhibit 3I is:

	a.
	Tautologous.

	b.
	Inconsistent.

	c.
	Self-contradictory.

	d.
	Contingent.

	e.
	Consistent.


INSTRUCTIONS: Use ordinary truth tables to answer the following questions. Construct the truth tables as per the instructions in the textbook.
____
43.
Given the statement:     ~(S  ~ D)  (D  S)

This statement is:

	a.
	Valid.

	b.
	Tautologous.

	c.
	Inconsistent.

	d.
	Contingent.

	e.
	Self-contradictory.


____
44.
Given the pair of statements:     Q  ~ A and A  ~ Q

These statements are:

	a.
	Consistent.

	b.
	Inconsistent.

	c.
	Valid.

	d.
	Contradictory.

	e.
	Logically equivalent.


____
45.
Given the argument:     K  Q / Q  ~ K // K  Q

This argument is:

	a.
	Invalid; fails in 2nd line.

	b.
	Invalid; fails in 1st line.

	c.
	Valid.

	d.
	Invalid; fails in 4th line.

	e.
	Invalid; fails in 3rd line.


